Name CM

ECE-205 Quiz 5

1) The integral j 6(A—-5)dA isequal to
—t+2

a)ut-5 b)u(-t+2) ¢)0 d)u(t+3) e)u(t—3) f)noneofthese

t+3

2) The integral I o(A+2)dA isequal to

a) u(t+2) b)) u(t+3) c)0 d)u(t+5) e)u(-5) f)none ofthese

t
3) The integral J'e‘ié(/l—Z)dﬂ is equal to

a) e“u(t—2) b)e?u(t) c)e'u(t) d) e'ut—2) e) e’u(t—2) f)none of these

t-1
4) The integral j&(ﬂ—l)dﬁ is equal to
2
a)0 Db)-u@-t) c) -u(2-t) d) —u@B-t) e)u(t-3) f)none ofthese

t+1

5) The integral h(t) = I e “P5(A1+3)dA can be simplified as

a) e )  b) e+l c) e ™ut+3) d) e ut+4)



t
6) The integral h(t) = I e ™ IS5(A-1)dA can be simplified as

—00

a) e Out) by e Vut-1) ¢ e dut-3) d)eDut—4)

t+1

7) The impulse response for the LTI system y(t) = I e " Ix(1-3)dA s

aAh(t)=e“dut)  b) h{)=e “Dut+) c) h(t)=e Du(t—3)
dht)=e “Dut-2) e) ht)=e “Ju(t-1) f) none of these

t-2
8) The impulse response for the LTI system y(t) = x(t —1) + _[ e " Ix(1-3)dA is

a) h()=t-D+e@u@) b) ht)=ut-21+ePu()
¢) h()=8t-D+e “dut-1) d) ht)=ut-1)+e “u(t+1)
e) h(t)=5t-1)+e “u(t—-3) f)none of these

9) The impulse response for the LTI system y(t) —y(t) = x(t-1) is

a) h(t)=e™Pu(t-1) b) h(t)=e “Pu(t-1) c) h(t)=ePu(t)
d) h(t) =e™u(t) e) none of these



